Chapter 9   The Income Statement and the Statement of Cash Flows

Solutions to Odd-Numbered Problems

	CHAPTER 9
	
	The Income Statement and the Statement of Cash Flows




	E9.5.  
	

	
	           
     6/9/13            21 days            6/30/13                   28 days                    7/28/13

	
	

	a.
	For the year end June 30, 2013, recognize 21/49 of summer school tuition, because that portion of the summer session occurs within the first fiscal year.  Summer session expenses will be accrued or deferred (i.e., recognized as incurred), so an appropriate matching of revenue and expense will occur in each fiscal year.

Amount of revenue for the year ended June 30, 2013 = (21/49 * $112,000) = $48,000

	
	

	b.
	No.  Revenues and expenses would still be allocated to each fiscal year to achieve the most appropriate matching (based on when revenues are earned and when expenses are incurred).  Since revenues are earned as services are provided, the critical event is the offering of classes rather than the university’s tuition refund policy.  Thus, the amounts calculated in part a would still result in the most meaningful financial statements for each fiscal year.


	E9.7.  
	

	
	Solution approach: Use the cost of goods sold model with assumed amounts that are the same except for the item in error:

	
	                                                                                                      "Error"        "Correct"
Beginning inventory





      $100,000        $100,000

Add: Purchases





        300,000          300,000
Goods available for sale




      $400,000        $400,000

Less: Ending inventory




      (125,000)          (75,000)

Cost of goods sold





      $275,000        $325,000

	
	

	
	The overstatement of ending inventory (too high relative to the correct amount) causes 
cost of goods sold to be understated (too low relative to the correct amount).  As a result, gross profit and operating income are too high, or overstated, by $50,000, as shown 
below with an assumed amounts:
                                                                                                      "Error"        "Correct"
Net sales






      $900,000        $900,000

Less: Cost of goods sold (from above calculations)

        275,000          325,000
Gross profit






      $625,000        $575,000

Less: Operating expenses




      (200,000)        (200,000)

Operating income





      $425,000        $375,000


	E9.9.  
	

	a.
	                                                                                                          (in millions)
                                                                                              2011           2010           2009  
Net sales

 



        $7,719        $7,676        $7,586
Cost of products sold




        (4,616)       (4,526)        (4,558)
Gross profit





        $3,103        $3,150        $3,028

Gross profit ratio




         40.2%        41.0%         39.9%  


	b.
	Using the gross profit ratio for 2011 of 40.2%:

Net sales ($ millions)






        $2,700

Cost of goods sold (59.8%)





         (1,615) 

Gross profit (40.2%)






        $1,085 million
Alternative calculation:  Some students may calculate a weighted-average gross profit ratio for the three-year period from 2009-2011, as follows:

Total gross profit ($3,028 + $3,150 + $3,103)


        $  9,281 
/ Total net sales ($7,586 + $7,676 + $7,719)



        $22,981
Weighted-average gross profit ratio




          40.4%
Net sales ($ millions)






        $ 2,700

Cost of goods sold (59.6%)





          (1,609) 

Gross profit (40.4%)






        $ 1,091
Note that the difference between the single-year (2011) estimation versus the three-year weighted-average estimation of gross profit was insignificant because Campbell’s gross profit ratio was remarkably consistent over the three-year period.


	E9.11.  
	

	
	I would prefer to have operating income data, because this describes how well management has done from its ongoing, central, core business.  Net income is important, but includes non‑recurring items such as discontinued operations and extraordinary items.  Thus, trends in operating income data are often more likely to reflect the firm’s ability to generate future earnings than are trends in net income data.


	E9.13.  
	

	
	January 1, 2013 through April 30, 2013 (40,000 shares * 4 months)  
         160,000
May 1, 2013 through November 30, 2013 (50,000 shares * 7 months) 
         350,000
December 1, 2013 through December 31, 2013 (45,000 shares * 1 month).            45,000 
Total shares outstanding (by month * 12)




         555,000
Weighted-average number of shares outstanding (555,000 / 12 months) 
           46,250

Net income








       $111,250

Less: Dividends required on preferred stock (8,000 shares * 3.5% * $100)..         (28,000)

Net income available for common stockholders



       $  83,250

/  Weighted-average number of common share outstanding


           46,250
=  Earnings per share—basic






            $1.80



	E9.15.  
	

	a.
	($760,000 sales on account + $24,000 decrease in accounts receivable) = $784,000 source of cash.  Since accounts receivable decreased during the year, more accounts were collected in cash than were created by credit sales.

                                              Accounts Receivable    

         Sales on account                 760,000   Cash collections

                                                                     from customers                   784,000 
 

	b.
	($148,000 income tax expense + $34,000 decrease in income taxes payable) = $182,000 use of cash.  Tax payments exceeded the current year’s income tax expense because the payable account decreased.

                                                 Income Taxes Payable  

         Cash payments for taxes     182,000   Income tax expense             148,000

 

	c.
	($408,000 cost of goods sold + $14,000 increase in inventory - $19,000 increase in accounts payable) = $403,000 use of cash.  Cost of goods sold reflects inventory uses.  Inventory purchases were greater than inventory uses because inventory increased during the year, but part of the inventory purchases were not paid for in cash because accounts payable also increased during the year.

                                                            Inventory                                                

         Inventory purchases            422,000   Cost of goods sold          408,000

                                                      Accounts Payable       

         Cash paid to suppliers         403,000   Inventory purchases        422,000 
                                                                      


	d.
	($240,000 increase in net book value + $190,000 depreciation expense) = $430,000 use of cash.  Since depreciation is an expense that does not affect cash, the amount of cash paid to purchase new buildings exceeded the increase in net book value.  (Note: In some years, a firm may spend an enormous amount of cash to acquire new buildings and equipment, yet still report a decrease in net book value.) 

                                 Buildings, net of Accumulated Depreciation 

         Purchase of buildings          430,000   Depreciation expense        190,000

                                                                                                




	E9.17.  
	

	a.
	Campbell’s uses the multiple-step format. The multiple-step format is generally easier to read and interpret because it provides intermediate captions and subtotals that are useful to investors.  The key line item in a multiple-step income statement is operating income, which Campbell’s shows as “earnings before interest and taxes.”  Campbell’s does not show gross profit as a separate item, although many firms using the multiple step format will do so.

	
	

	b.
	The EPS disclosures (basic and diluted) are important measures to investors because they express accrual accounting income on a per share basis.  For Campbell Soup Company, these disclosures are straight-forward.  As discussed in the text, however, additional disclosure about the significant elements of EPS is appropriate for any years during which a firm reports any of the “unusual” income statement items (i.e., the “net of tax” items—discontinued operations or extraordinary items).  Knowledge about the impact of non-recurring items provides investors with a better basis for anticipating what may happen to EPS in the future.


	P9.19.  
	

	a.
	Net sales








     $644,000

Cost of goods sold







      (368,000)

Gross profit








     $276,000

Advertising expense







        (45,000)

Other selling expenses






        (13,000)

General and administrative expenses





      (143,000)

Operating income







     $  75,000

	
	

	b.
	Note: Since Manahan Co. did not report any interest expense, or other income or expense, the operating income amount calculated in part a also represents the firm’s “Income before taxes.”

Income before taxes (operating income)




     $  75,000

Income tax expense







        (26,000) 

Earnings before extraordinary item





     $  49,000

Extraordinary loss from flood, net of tax savings of $35,000

      (105,000) 

 Net loss








     $ (56,000) 


	P9.21.  
	

	
	Solution approach:  Calculate ending inventory in the cost of goods sold model for the high (33%) and low (30%) gross profit ratios, and select the ratio that yields the highest ending inventory.
                                                                           Gross Profit Ratio               .
Calculation

                                                                33%                               30%               Sequence
Sales



                   $142,680                       $142,680        Given

Cost of goods sold:

Beginning inventory

   $  63,590                       $  63,590                        Given

Add: Purchases

     118,652                         118,652                        Given

Goods available for sale
   $182,242                       $182,242

Less: Ending inventory
     (86,646)                        (82,366)                          3rd

Cost of goods sold

                   $(95,596)                       $(99,876)         2nd

Gross profit


                   $  47,084                        $  42,804         1st *

* Gross profit percentage multiplied by sales.

Franklin Co.’s management would argue for using a 33% gross profit ratio for 2013 to the date of the tornado, because the higher the gross profit ratio, the higher the estimated ending inventory lost in the storm, and the greater the insurance claim. 


	P9.23.  
	

	a.
	Cash flows from operating activities:                                                ($000 omitted)
Net income







         $420

Add (deduct) items not affecting cash:

Depreciation and amortization expense



           320

Accounts receivable decrease





             45

Inventory increase






           (20)

Accounts payable decrease





           (10)

Income tax payable increase





             35
Net cash provided by operating activities



         $790

	
	

	b.
	Net income is based on accrual accounting, and revenues may be earned before or after cash is received.  Likewise, expenses may be incurred before or after cash payments are made.  Thus, net income and cash flows provided by operations may differ because of the timing of cash receipts and payments versus the timing of recognition on the income statement.  In addition to the timing issue, other adjustments to net income may be necessary to add back non-cash expenses (such as depreciation and amortization), or to remove the effects of non-operating transactions (such as the gains and losses from the sale of long-term assets). 

To adjust net income for timing differences, changes during the year in non-cash working capital items (i.e., current assets other than cash, and current liabilities) must be considered.  If a current asset account increases or if a current liability account decreases during the year, the cash account balance is assumed to have decreased.  If a current asset account decreases or if a current liability account increases, the cash account balance is assumed to have increased.  (Note: You should review the Business in Practice—Understanding Cash Flow Relationships—Indirect Method if you are having difficulty understanding these adjustments.


	P9.25.  
	

	a.
	Solution approach:  Prepare a statement of cash flows-direct method (see Exhibit 9-9).
Cash flows from operating activities:                                                          (in millions)
Cash collected from customers





     $1,350

Interest and taxes paid







          (90)

Cash paid to suppliers and employees




        (810)
Net cash provided by operating activities




     $   450 


	b.
	Cash flows from investing activities:
Purchase of land and buildings





      $(170)

Proceeds from the sale of equipment





            40 
Net cash used for investing activities





      $( 130) 

	
	

	c.
	Cash flows from financing activities:
Payment of long-term debt






      $ (220)

Issuance of preferred stock






          300

Cash dividends declared and paid





         (340)
Net cash used for financing activities





      $( 260) 

	
	

	d.
	Net increase in cash for the year





      $    60  


	P9.27.  
	

	a.
	HOEMAN, INC.

Balance Sheets

December 31, 2014, and 2013
Assets:
Current assets:                                                                                      2014            2013
Cash







           $  52,000    $   46,000

Accounts receivable





    (1)    124,000        134,000

Inventory






             156,000        176,000
   Total current assets 





    (2)   $332,000    $ 356,000
Land 







    (3)     140,000       140,000

Buildings






    (4)     415,000       290,000

Less: Accumulated depreciation



            (120,000)    (105,000)
   Total land & buildings




    (5)   $435,000    $ 325,000
Total assets






    (6)   $767,000    $ 681,000
Liabilities:
Current liabilities: 

Accounts payable 





   (7)   $ 167,000     $ 197,000

Note payable






             155,000        124,000
   Total current liabilities




          $  322,000    $  321,000
Long-term debt





 (11)   $ 192,000     $ 139,000

Stockholders' Equity:
Common stock





          $   50,000      $   45,000

Retained earnings





  (9)       203,000        176,000

   Total stockholders' equity




 (10)   $ 253,000     $ 221,000

Total liabilities and stockholders' equity 


   (8)   $ 767,000     $ 681,000

Calculations:   
1.  $134,000 – $10,000 = $124,000

2.  $52,000 + $124,000 + $156,000 = $332,000

3.  Land is carried at historical cost = $140,000

4.  $290,000 + $125,000 = $415,000

5.  $140,000 + $415,000 – $120,000 = $435,000

6.  $332,000 + $435,000 = $767,000

7.  $322,000 – $155,000 = $167,000

8.  Same as total assets = $767,000

9.  $176,000 + $94,000 – $67,000 = $203,000

10.  $50,000 + $203,000 = $253,000

11.  $767,000 – $253,000 – $322,000 = $192,000 


	P9.27.  
	(continued)



	b.
	HOEMAN, INC.

Statement of Cash Flows

For the Year Ended December 31, 2014
Cash flows from operating activities:
Net income 








   $   94,000

Add (deduct) items not affecting cash:

Depreciation expense 







        15,000

Decrease in accounts receivable





        10,000

Decrease in inventory







        20,000

Decrease in accounts payable 





      (30,000)

Net cash provided by operating activities




   $ 109,000

Cash flows from investing activities:
Cash paid to acquire new buildings 





   $(125,000)
Cash flows from financing activities:
Increase in notes payable






   $   31,000

Cash received from issuance of long-term debt



        53,000

Cash received from issuance of common stock



          5,000

Payment of cash dividends on common stock



       (67,000)

Net cash provided by financing activities




   $   22,000
Net increase in cash for the year





   $     6,000 


	P9.29.  
	

	a.
	HARRIS, INC.

Balance Sheet

December 31, 2014
Assets:
Current assets:

Cash 







      $    6,000

Accounts receivable





          67,000 

Merchandise inventory




          46,000
   Total current assets





                           $ 119,000  

Noncurrent assets:

Land







      $  27,000

Buildings






        208,000 

Less: Accumulated depreciation 



      (101,000)
   Total noncurrent assets




                              134,000
Total assets 






                           $ 253,000


	b.
	Liabilities and Stockholders’ Equity:
Current liabilities:

Accounts payable 





      $  61,000 

Short-term debt





          12,000

Notes payable






          24,000  

   Total current liabilities




                           $  97,000

Long-term debt





                               65,000

Stockholders’ equity:

Common stock, no par 




      $  28,000  

Retained earnings





          63,000
   Total stockholders' equity 




                               91,000
Total liabilities and stockholders' equity 


                          $ 253,000

HARRIS, INC.

Statement of Changes in Retained Earnings

For the Year Ended December 31, 2014
Retained earnings, January 1, 2014 




         $  55,000

Add: Net income for the year 





             13,000

Less: Dividends for the year





             (5,000)
Retained earnings balance, December 31, 2014 


         $  63,000
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